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Original circuit
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This topology is not familiar to me. | )

think you are trying to implement an
active filter with an attenuation of 0.667

15V 415V \ and cutoff of 81kHz )
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The abrupt change in phase
indicates Instability / resonance
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Use filter designer (on Tl.com

e 2nd order o

* Multiple feedback wl L
» Low pass filter o

Passband Gain{bo) : 1

() B e S S e I 3 | Cutoff Frequencyifn):  103.194 kHz
=
E‘ CQualityFactor (Q): 058
E Filter Respanse: Bessel

° F 8 1 k Circuit Topology: MultipleFeedback
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Implement in TINA
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Need to turn this into R1+2-R1

a voltage divider
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Simulate TINA
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gain is correct, and the
phase does not show a
rapid transition so it looks

4 The cutoff is correct, the )

\_ stable. )
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